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Note :

All Questions are compulsory and each question is of 1 mark.

(i) T srrst & o iR @ Rl F st saR Bt A= &

~ Only English version is valid in case of difference in both the languages.

1. P & ¥ Raweme w1 #l-ar
R
(@ & o Ao
(b) 3R Bhor AT
(c) &S wanswTuR Por AT
@ FRE # § F 760

2. FtE aeg § ufaedd fy Tam
e dw & ywnrhg e @
ey arel YaT Fgend ¥ -

(a) #F HaT
(b) TIOTHS 384T
(c) wuw Yar
@ wfr

Which of the following is the
function of theodolite ?

(@ To measure horizontal angle.
(b) To measure vertical angle.

() To measure horizontal and
vertical angle.

(d) None of the above

The line joining the intersection of
cross hairs and optical centre of
object glass is known as

(a) Fundamental axis
(b) Axis of bubble tube

- (¢) Line of collimation

(d) Stadia line

P.TQO.
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(@) gfestiemr
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(c) UNIaeihed

(d) >R F § go T80
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(a) 3R toie & Jenibd g @7
T ATYPR

(b) oI TF r TS ATHT

(c) oI #ir qT Hr g AT

(d) faueh e & sinfra ga &
T AT
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T @ ¥ -
(@ TF
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@ =R
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| T AT SR 7

(a) Terstor
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(d) 39%-TEE TyEE O dfder gt
A W '

TGN ¥ F W Ta0 IO
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(a) owamioo (b
(c) 0Tamo (d)

100 Tg00
100 Tg0100
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The process of turning the telescope
of a theodolite about trunion axis
through 180° in a vertical plane is
known as ‘

(a) Transisting
(b) Swinging

" (¢) Backsighting

(d None of the above

The size of a theodolite is specified

(@) By measuring the diameter of
the graduated circle of vertical
plate.

(b) By measuring the length of
telescope tube.

- (¢) By measuring the viewing

distance of telescope.

(d) By measuring the diameter of
graduated circle of lower plate.

The number of horizontal hairs in a

stadia diaphragm is
(a) one (b)) two
(c) three (d) four

Which of the following is measnred
using substance bar ?

(a) Levelling

(b) To measure horizontal angle in
plane areas.

(c) To measure vertical angle.

(d To determine horizontal
distance in undulated areas.

The additive and multiplying
constants of a tacheometer fitted with
anallatic lens are

(@ 0and100  (b)
(c) OandO )

100 and 0
100 and 100
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(b) sFhRET TF
(c) afzg Pu=x

(d) 3UF F E FS AQD
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r # A Pla-ar e TwAT aF
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(@ TFUEET (b)) FENAES
’(c) a1 9w (d) fRunh
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(d) TEPHAYT TF B SYAIT D
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In any closed traverse, if ‘the survey

work is correct, then

(a) The algebraic sum of latitude
should be equal to zero.

(b) The algebraic sum of departure
should be equal to zero,

(c) The sum of northings should be
equal to sum of southing.

(d) All of the above."

The latitude and departure of a
traverse line are both positive when
the whole circle bearing of a line lies
in the

(a) first quadrant

(b) - second quadrant

(c) third quadrant

(d) fourth quadrant

When the angular measurement of a
traverse are more precise than the -
linear measurements, the balancing of
a traverse is done by

(a) Transite rule

(b) Empirical formula

(c) Boowditch’s rule

(d) None of the above

If the radius of a curve is R and
deflection angle is ¢, then the length

of long chord will be .
(@) Rsing () Rcos¢
(€ 2R sin% d 2R cos% '

Which of the following is a ideal
transition curve ?

(a) Cubic parabola(b) Clothoid

(c) Cubicspiral (d) Lemniscate

The overturning of vehicles on a
curve can be avoided by
(a) using compound curve
(b) using vertical curve
(c) using reverse curve
(d) using transition curve
P.T.O.
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The spire test for the permanent

adjustment of a theodolite is used for

(a) Adjustment of plate level.

(b) Adjustment of line of sight.

(c) Adjustment of horizontal axis.

(d) Adjustment of altitude bubble
and vertical index frame.

The use of a total station in surveying
is :
(a) To measure horizontal distance.
(b) To measure horizontal angle.
(¢) To measute vertical ahgle. -

(d) All of the above.

Which types of waves are used in
electronic  distance = measuring
instrument ?

(a) Micro waves

(b) Light waves

(c) Radio waves

(d) All of the above

A theodolite was set up at point A
and the angle of elevation to a vane
3 m above the foot of the staff held at
B was measured 9°30°, What will be
the height of vane above the

. instrument axis if the horizontal

distance between A and B is 2000
metres '

(a) 334.68 metres (b) 535.78 metres
(c)  456.89 metres (d) 886.89 metres

The branch of surveying in which
the horizontal and vertical distances are
determined by instrumental observation
(a) Chain surveying

(b) Tacheometry

(c) Traversing

(d) Plane tabling

Generally the vertical curves are
(a) circular (b) spiral .
(c) clothoid (d) parabolic
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(a) AFFr & 0YFEA ERT
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The angle between the prolongation
of the preceding line and the formed
line of a traverse is called

(a) Deflection angle
(b) Included angle
(c) Direct angle

(d None of the above

In the surveying telescope, cross hairs
are fitted at

(a) centre of telescope

(b) infront of eye piece

(c) onthe optica‘_i centre of objective
(d) infront of objective

The parallax is removed
(@
()
©
(a)

By focussing the eye-piece
By focussing the objective .
Both (a) and (b)

None of the above

If the focal length of the objective is
and stadia interval is i, then the

multiplying  constant of  the
tacheometric will be

- (@ fxi ) f/i

() f+i @ f-i

Bowditch’s mule in surveying is
applied for

(a) For temporary adjustment of
theodolite.

(b) For distance correction in -
tacheometer.

() For balancing the closed
fraverse. -

(d) For comrection in chain
surveying.

P.T.0.
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25. If the radius of a simple circular
curve is R metre, Degree of curvature
is D° and length of chord is 30 metre,
then the relation in between R and D
will be _

(@ R=1146/D (b) R=573D
(¢ R=1720/D (d) R =5400/D

If the length of a line AB is 204
metres and whole circle bearing is
87°30’ in a closed traverse, then the
latitude of the line AB will be

@ +890 (b) -8.90

() +32.48 (d -3248

In normal circumstances the error in
tacheometer survey should not be

(@
(b)
©
(d)

26.

27.
more than le‘
mofe than ‘1‘%6
more than 15156

more than 515

28. Which of the following is measured

for trigonometrical levelling ?

(a) Horizontal distance

(b) Vertical angle

(c) Both (a) and (b)

. (d) None of the above

29. Which of the following instrument is
made up of combining the electronic
theodolite and electronic distance
measuring instrument ?
(a) Tacheometer (b) Total station
(c) Optical square (d) Cross staff

Which of the following is the
fundamental axis of a theodolite ?

(a) Vertical axis

(b) Axis of plate level

(¢) Line of sight

(d) All of the above

30.



CE304 _ ROINO. £ cevevverncncssosesnees
2016
SURVEYING -II
Fraifie v dm e ) - [firem 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

A (i) wemwe s & v F @ et e 3 s 3R
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) TR T & Gt aril %) AR U T B |
Solve all parts of a question consecutively together.
(iii) T T @ 7 78 8 ARAT BT |
Start each question on a fresh page. .
(iv) o srarar & s @ @1 Reifer 7 ool s @t T & 1

Only English version is bval‘id in case of difference in both the languages.

1. e e
Explain the following :
() e
Levelling head
(i) = e
_Ertor in traverse
(iii) VT TH
Simple curve
@1v) Lok
Transition curve
(v) S i e |
. Upper tangent screw , v (2x8)
2. () Frireiemse ® o daer & w9 R i Bt 7 TR | |
How will you use a theodolite as a level ? Explain. : (6)
(id) Wﬁﬁméﬁwwﬁaﬁﬁﬁma&mﬁmﬁa&maﬁm |

Explain reiteration method of measuring horizontal angle with the help of a
theodolite. : (6)

(7) ' ,P.T¢Oa
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(i)

(i)

6. @)

(ii)

(ii)

(ii)

® 2204
TG JfE T & 2 T e A e s & 0

What is closing error ? How is it adjusted ? (6)
FRTT IVl & AT TR FraISIeATee A Y@ i ufRaT H quEE | :
Describe Included angles method by theodolite traversing. ©)
St ¥ e P w7 et e |

Explain principle of stadia system in tacheometry. (6)
TR BT ¥ AT it ot @ el w1

Explain the method of measuring horizontal distance with the help of substance -
bar. (6)
T gt S Preproierr ot g I A ) P o v om Q@ R
forg i v T arom- aremT st wweer J o |

Explain method of determinaton of height of a distant point by trignometric
levelling when both station point and object point are in different vertical planes. (6)
ﬁrﬁ&mﬂ%%:ﬂ&aﬁmmﬁmmmﬁﬁw&ﬁqﬁmmm%w
ferrtt ¥ U STERT RvF T & St wmaer & ¥

How will you find the height of top of a chimney when the base of chimney is
inaccessible and top of chimney & instrument stations are in the same vertical
plane ? (6)

mﬂﬁwﬁaaﬁﬁqmwﬁm@m%mzotﬁawaﬂa%@
Wy wnfie S |

Define degree of curvature. Derive the relanonshlp between radius and degree of

_curve of 20 m standard chain. ‘ 6)
T IR T Ay A R R Fm A Aoy 2
What is a transition curve and why is it used ? : , (6)
T SRt o et w wfirer feool fafee |
Write short notes on the tunnel alignment and setting out. 6):
A% TR Rl wt g F wwemEd | :
Explain Weisbach triangle method. ' (6)
3.2 frraeiomee w Gk feooft ffag |
Write short note on T-2 theodolite. (6)
et it fenee =hior fufly =t e |

Explain the Rankine’s method of deflection angle. _ 6



